M 1AM FDADE MIAMI-DADE COUNTY, FLORIDA
] : METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305)375-2001  FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA)

Eastern Metal Supply, Inc.
4268 Westroads Drive
Riviera Beach, Florida 33407

ScoprE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.050” Perforated Bertha Aluminum Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 03-143, titled “ 0.050” Perforated Bertha Aluminum Storm Panel”,
sheets 1 through 15 of 15, prepared by Tilteco, Inc., dated July 03, 2003, last revision #1 dated July 03, 2003,
signed and sealed by Walter A. Tillit Jr., P.E., bearing the Miami-Dade County Product Control Revision stamp
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.
MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety. )

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 01-1107.01 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

H /4 NOA No 03-0716.02
Expiration Date: 03/21/2007
°8 / 8 /o] Approval Date: 08/28/2003

Pagel




15.119" (TOTAL WIDTH)
12.000” (EFFECTIVE WIDTH)
(500, 4.473" |

1.500" ~———4.473" -1,500"

AS APPLICABLE
(Typ.)

N /S

~| 2.125” |—3.875" —~| 2.125" |~

E

.050"
2.250

1.500"—

FULL PANEL

1.500

" (EFFECTIVE WIDTH) ™

»

9.119” (TOTAL WIDTH)
6.000"

500"

4.473"

AS APPLICABLE

@ PERFORATED STORM PANEL

(Tvo.) i
] ‘Q é
8 TN
_ -
~ 2.125" |- ]
HALF PANEL
2.125"
360" - .360"
=Q .
SE

SCALE : 1/2" = 1"
n »
CONCRETE ANCHORS (SEE SCHEDULE) -3 —~
Max. Max.
1 Min. 1 Min.
[} [} [} [}
| = el e e [ e s T e e — e
- ™
S q ER)
:c:ocu: %26 %o P60 :a:u: : ~
ol Pl o0 O’ A 08,00
30 o
o] oL ] RS0 OO s d )t
OO MO O] OO0 BOG 6% -
oot o2 o] R o o o
) oo o ) 6.0
°o:o o] o 0.0 uuouo: 00:000 zobo:c A
°. 0.0 ° 8,00
LX) 0’0 () A L) () /\/ o0 E
A A T
EXICK: 550 RO 5065
o000 J\/ 2 00 o Sy Seloly RS wy
BOOC ) OO o0 o ebo Y
LA © 6 0 © o © o g %% 08,0
-
0ePulf bOLC 9] ua:a:c 6565 A L
oOCK S %] °e ] S0 L) © 0 o =
DOCK 8.5.0 ) u: XX DOCK 1,3:-9:\1“ L :ub X )
0e%%] e e’ r:g:fj ——T 680 o"n:o Q
Set] P50 ol ] MOOE S O Lf
PO 1 LX) u°:°u i ololu’ POy 0 QO
GO 0 00 o] B °.%°) G b
o YO0
OO0 MO MO OO °u°c G u:cco
OO0 LG e’ o 002 06 ¢ Ly
1 ©.0.0 (X R 0.0 X3 ©.0 Iny}
XXX 0,800 KX CICKCK "uzn% [
o
SO0 NG S’ L] uuoua N~
000 d
Ra R e =
GO0 0 0 0l S’ OGL) D) =
BOOK: 660 YOO XX © 66
CICK) LI o O 6 0 ) 0o (4]
vood 500 EYOCK: 66 )
°a o © 0o %% LK) %% =
0620 MK uoouuoa MOOC 6%%°% L
9% %6767 oG OO BOG ~Jl
) ) ) A 0.0 -3
~
A [
GG LR T0 K U =
v 000 LX) EYOK: © 00 © 00
a8 © o 0] LC) 06 o o 0 ¢ L
©.06 0 oo O0K: 30 B0
o o] GG 0 BOC o0 6 Q;
o oaupc LICK 0094 0008 DN
DY 00,8 000 08 LK 5
©.0.0
e ) e A 9
IS IS 00650y % %% I =
()
BO0) oo O OO0 ©,5:0:
o
o P R s
_Ocooc | _:eo_ug! 1 v ool oo | LIl
PPy oo 8 eCq] T uo:o ©
_@' LXK DOCY _@ DO LXK LXK
© 000 o008 ol o d a o @ [
»
[—- J -~ CONCRETE ANCHORS (SEE SCHEDULE)
Max.
" Min. PERFORATED STORM PANEL

TYPICAL ELEVATION

- N T 5

1/4” Max. GAF’——]

"N NN NSO\ N\
SECTION A-A

N T. 5

’« 1/4" Max. GAP

-

JUL 9 3 2003

1. STORM PANEL SHOWN ON THIS PRODUCT APPROYAL DOCUMENT HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE 2001 EDINON OF THE FLORIDA
BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1619 OF THE ABOVE MENTIONED CODE, FOR A BASIC WIND SFPEED OF 148 m.p.h., AND IN ACCORDANCE
W/ ASCE 7-98 STANDARD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE MAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1606.1.4 OF THE ABOVE MENTIONED CODE AS PER
AMERICAN TEST LAB REFORT § 1D22.01-88 ANO # 0221.01—-01 AS PER FA-201, PA~202 AND PA~203,

2. ALL ALUMINUM SHEET METAL PANELS SHALL HAVE 5052-H32 ALLOY OR 3D04-H34 ALLOY.
3 ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION BOB3-TE ALLOY & TEMPER UNLESS OTHERWISE NOTED.

4. ALL SCREWS TO BE STAINLESS STEEL J04 OR J18 AlS| SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018 W/ 50 ksl YIELD POINT AND .
90 kui TENSILE STRENGTH. .

&, BOLTS TO BE ALUMINUM ASSOCIATION 2024—T4 ALLOY & TEMPER, ASTM A-J07 GALVANIZED STEEL OR AIS! 304 SERIES STAINLESS STEEL, WITH 38 ksi MINIMUM YIELD
POINT,

6. ANCHORS TO WALL SMALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)
(A) TO EXISTING POURED CONCRETE:

~ 1/4™9 TAPCON ANCHORS MANUFACTURED BY L.T.W. BUILDEX (REGULAR OR 410 S.5.) AND ELCO TEXTRON (REGULAR),

— 1/4"8 CRETE-FLEX 554 ANCHORS MANUFACTURED BY ELCO TEXTRON.

— 1/4"8 CF TAP—GRIP ANCHORS (BERTHA STUD—CON), MANUFACTURED BY TRU~FAST CORPORATION.

= 1/4°9 ZAMAC NAILIN ANCHORS MANUFACTURED BY POWERS FASTENING, INC.

~ 1/4"8 x 7/8" CALK—IN ANCHORS, 1/4"# ELCO male & female "PANELMATE" OF 1/4"8 ELCO male "PANELMATE PLUS®™ MANUFACTURED BY POWERS FASTENING, INC.
AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
A1) MINMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS OR CRETEFLEX SS4 IS 1 3/47 FOR ZAMAC NAILN IS 1 3/8% FOR CF TAP—GRIP ANCHORS IS
1 1/4% FOR ELCO PANELMATE AND ELCO male "PANELMATE PLUS" IS 2%

A2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE.
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
1/4"9-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1° MINIMUM FOR WALLS WITH NO STUCCO.

A3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO
REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS INDICATED ON NOTES A1) & A2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL:
— 1/4"8 TAPCON ANCHORS MANUFACTURED BY I.T.W. BUILDEX (REGULAR OR 410 5.5,) AND ELCO TEXTRON (REGULAR).
~ 1/4°9 CRETE~FLEX 5S4 ANCHORS MANUFACTURED BY ELCO TEXTRON.
~ 1/4"# CF TAP-GRIP ANCHORS (BERTHA STUD-CON), MANUFACTURED BY TRU—FAST CORPURATION.
~ 1/4"F ZAMAC NAILIN ANCHORS MANUFACTURED BY POWERS FASTENING, INC.
~ 1/4"8 x 7/8" CALK—IN ANCHORS, 1/4°8 ELCO male & female "PANELMATE" OR 1/4™8 ELCO male "PANELMATE PLUS™ AS MANUFACTURED BY POWERS FASTENING,
. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, ZAMAC NAILIN, CF TAPGRIF, ELCO PANELMATE, ELCO male "PANELMATE PLUS" AND CRETE-FLEX SS4, INTO THE
CONCRETE BLOCK UNIT SHALL BE 1 1/4"

B.2) 7/8" CALK-IN ANCHORS SHALL BE ENTERILY EMBEDDED INTO THE CONCRETE BLOCK UNIT.
NO EMBEOMENT INTO STUCCO SHALL BE PERMITTED,
1/47#-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1% MINIMUM FOR WALLS WITH NO STUCCO.

B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN
STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS INDICATED ON NOTES IN B.1) & B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 13 (SHEET 3 THRU 7 OF 15) EXCEFT THAT HEADERS
2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNONESS OF THE STRUCTURE WHERE SMUTTER IS TO BE ATTACHED TO INSURE PROFER
ANCHORAGE. THIS SHUTIER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK DR WOOD FRAME BUILDINGS.

§. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOLS CONTACT WITH THE BUILDING TO PREVENT
WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

10, STORM PANEL INSTALLATION SHALL COMFLY WITH SPECS INDICATED IN THIS ORAWING PLUS ANY BUILDING AND Z({NING REGULATIONS PROVIDED BY THE JURISDICTION
WHERE PERMIT IS APPLIED TO,

11. (a) THE PRODUCT APPROVAL DOCUMENT (P.A.D.) FREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT FROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT: Le.
WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIGLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT BASED ON THIS PRODUCT APPROVAL PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILEO ON
THIS DOCUMENT., CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED. PRODUCT REVISED
a3 complying with the Florida
(d) SITE SPECIFIC FROVEGTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL Buiding Code
BECOME THE PROFESSIONAL OF RECORD (P.O.R.) FOR THE PROECT AND WHO WILL BE RESPONSIELE FOR THE PROPER  pccunesoc e 63 07/ o7
USE OF THE PAD, ceptance Mo .

PROFESSIONAL OF RECORD, ACTING AS DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATIER
THE SITE SPECIFIC ORAWINGS FOR REVIEW.

(o) THIS PAD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER THAT
PREPARED [T, 5
, Bivision
12. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED AT BOTTOM OF EACH PANEL
LABEL. SHALL READR AS FOLLOWS:

EASTERN METAL SUPPLY, INC.

RIVIERA BEACH, FL

MAMI~DAOE COUNTY PRODUCT CONTROL APPROVED. F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| 5 >HOMN

7/3/03

I|L I ECOine EASTERN METAL SUPPLY, INC DATE

: 4268 WESTROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 03—-143
6585 NW. Jﬂ;fh. S‘t.Ja.ﬂa_ 217, VIRGINIA Dﬂ‘plsl\ﬁ g_l:!, J166
Phene : (305, EE’fz% 3 é-';:; g (305) o P TR T e s DRAWING No
WALTER A. TILLIT Jr. P. E. 1 OLD 01-251 7/3/03 3 - ~ .
FLORIDA Lic. # 44167 P = = < - ~— SHEET 1 OF 15




| 2.470"
— 4 9
TV }5/./
[=]
0 » "
R.125 .
S R.125" N
. ¥
53 By
S - RS
075 8
Tp. § N
2.250" !
2.591"

SCALE : 3/8" = 1*

L]

lasa"

—1.961

]

~1.138

- |
—— 1.950"——]

@ REVERSED "F” ANGLE TRACK

SGALE : 3/8" = 1°

SCALE : 3/8" = 1*

ALTERNATE
LEG LOCANJ\

SCALE ¢ 3/8" = 1"

il
(3) 5/8% HOLES
pLare AT TOP LINE }
) - 3\ - - -

)

(2) 5/16" HOLES
AT BOTTOM LINE
FOR 1/4"a#~20x1"
5.5. MACHINE
SCREW TAPCONS

7*
MIN.

fane
ey}

—1=I——5 1/4"*-J —3/4" MIN.

el

SCALE: 3/18% = 1*

“F* TRACK ANGLE

p—— 2.000™
[ 1. 1257 .

(s

(@ .STUDDED ANGLE

608315 Alum. ALLOY

SCALE ¢ 3/8"

= 1"

COMPONENTS

--.050"

DETAIL 1: stup w/ WING NUT ; i %

-~ VARIES

1/4% 5.5. STUD
RNETED TO ANGLE
€ SPACINGS SHOWN
ON SECTIONS.

—~——2.000" Max. 2.470" y
—— 7/\.125" | 2.470"
L, % " _~R250"
» d
o V. 8 8 AN 4
g 35 ; ; - R250" R.125 ?
- ]
% | I .m g : 1
2 ——H——.1z5' \ R.zaa'f X =075 T8 §
M R125" TT8 ¥ o 7p- g o
—~|(~.075" - " & :
075"~ | % o | S
' - FuLL R
5 - j—— 2,250~
e AL R 2.591
2.250"
2.591"

1.200"

000"

EE;

091" __

1/4"W 5.5. STUD
RIVETED TO ANGLE
e 12° o.c.

Q)

3

1.750"
un

.32

SCALE : /8" = 1"

ANGLE WITH STUD

SCALE: 1/2" = 1*

9,344

1.407"

J42*

3105~H154 Alum, ALLOY
SCALE : 3/4" = 1*

750"
b ALTERNATE
] LEG LOCATION
SEE k
DETAL 1 |3
T

e 7502
125"

1.25" Max.-~|
500" Min.

1/4" # 8, S. STUD
RIVETED TO AN
& 0 12" 0.C.

875" |—

3
=
H-1.125"

2.000° —

“F" TRACK

SCALE : 3/8" = 1°

IGLE

= 125%

6A 1 _1/4" MAX. B. O,

5.0007

SCALE: 3/B" = {*

PRODUCT REVISED
as complying with the Florida
Buiding Code

Acceptance No 03 - 0

F.B.C.(H.V.H.2.)/MIAMI—DADE COUNTY

/ TILIEC O me. \

TILLIT TESTING & ENGINEERING COMFANY
5555 NW. 36th, St Ste. 217, VRGINIA GARDENS, Fi. 33168

UL 03 2003

Phone : (305)871-1530 . Fax : (305)871-1531
EB—0006719
WALTER A. TILLIT Jr. P. E.
FLORIDA Lic. # 44167

0.050™ PERFORATED BERTHA ALUMINUM STORM PANEL| "Ssgfffw”
7/3/03
EASTERN METAL SUPPLY, INC DATE
4268 WESTROADS DRIVE
RIVIERA BEACH, FL 33407 03—143
Y. N DESCRIPTION DATE REV, No DESCRIPTION MIE DRAWING NU
1 oLD G1=-251 - -

2 -

7/3/03 Fl
- 4

SHEET 2 OF 15




Cont,
N —,—LJC@ FE CONCRETE ANCHORS
concnere avciors R = (et screduis] N\
(seE SCHEDULE) < \é TN ]1 1.000 P =M 3 /—-@Cant.
—E s , == I8 ¥
[ o X T’ ’ ‘ ~\ Q=
SR 0 T
| s BN
POURED Wi
CONCRETE | covcrere Y | | 22§5,’;§$Ex | |
REQUIRED
/ e O\ e L
] B : | ]
) 5 SEsaEe L) || g ]
O e : | -0 =
| . B | | : 10 GLASS | | g
] l || i | | ] ¥
A ] vy A A .
J = | A . ' T :
@ X
W Q
spemerl L8 g || R I I
il ik | s z
| | Lf" @ 12° .. | . 3 %ﬁ;?’f}" f/4 | | 2
| ] : R | e 1 g
o/—/ ! ] l § POURED-/ ‘ [ l 0 / ” ‘ ] ] :
o -0 I e | :
o Congrere, I oG AT i g concerre R
gé(o)ﬁll; EMgiLL _‘ ’ ’ REQUIRED %‘ ".l } REQUIRED ’ ' *“—( )
o
— | = =2 i === %_Iﬁ | o
s i /) .5625" = E : '
/ -l . — CONCRETE ANCHORS CONCRETE ANCH0R57 7 cont
CONCRETE ANCHORS % 3 (SEE SCHEDULE) Cont. (SEE SCHEDULE) 1 !
(SEE SCHEDULE) N 3F N
Cont, ﬂg’ ’

WALL MOUNTING INSTALLATION

SECTION @ ANCHOR BUILD OUT INSTALLATION
SECTION 2 SCALE : 3/8" = 1” —'——'3—“———
A SECTION SCALE : 3/8" = 1"
| | l ‘
iy
B :
| O E) UCT REVISED
RCD .
j | | ‘ 2 E. D. = EDGE DISTANCE :ﬂﬂmi’lyi“gw“h the Florida
POURED g " (SEE SCHEDULE ON Buiding Code 2 o7lb.oZ
& CONCRETE | . eva/iz" SHEETS 10 & 11 OF 15) Acceptanee No© %5
u gfogﬁNﬁfLEZE (WING NUT @ = Expiration Date
REQUIRED 4 EVERY, STUD g
e 1z"oc. 2 By 4
* Minmi Dagifbroduct Control
- 7 ! = é" Divisien
1.125% l
] ——-l-'u % NO TION O, : s
2§ F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY
Cont. WALL MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TG SUIT ANY INSTALLATION. | : 050" B AS SHOWN
SECTION @ STUD / - 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL SCALE
WALL MOUNTING INSTALLATION S 7/3/03
ATION 1 SGAE : 3/6" = 17 Z TiLlEc O . \ EASTERN METAL SUPPLY, INC oaTe
SECTION 1 INC. 4268 WESTROADS DRIVE

g’g ) TILLIT TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 03—143
NOTE : DETAIL OF SECTION @ STUD VALID ALSO FOR N ; 6565 NW. 36th, St Ste. 217. IRGINIA GARDENS, F. 33166
M—_

- Phone : (303)871-1830 . Fax : (305)871—1531 DRAWING N
WALL MOUNTING INSTALLATION — SECTION 2 (TOP) [ - :;» one : (3058 55_0005;'19( ) REV, No DESCRIFIION /An/u- REV. No DESCRIPTION DATE @
0 WALTER A TILLIT Jr. P. E 1 OLD 01-251 7/3/02 3 - -
duL 3 200 FLORIDA Lic. # 44167 2 = - 1 = ~ ) SHEET 3 OF 15




CONCRETE ANCHORS E D
(SEE SCHEDULE)
m
POURED CONCRETE |
REQUIRED —\\ — EQ i1 £Q.—
N N \
i
Qix
g%

_@ Cont.

A
4

™ Min, SEPARATION —|

SEE SCHEDULE FOR
TO GLASS

250"

—®

7/8%3/32"
WING NUT ®

L EVERY STUD
@ 12* 0C.

Max.

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

REQUIRED

A0

| .1_1'
POURED CONCRETE i
L

CONCRETE ANCHORS / E D.

(SEE SCHEDULE)

CEILING & FLOOR MOUNTING
INSTALLATION — SECTION 4

SCALE : 3/8" = 1"

E. D. = EDGE DISTANCE
(SEE_SCHEDULE ON
SHEETS 10 & 11 OF 15)

NOTE FOR_COMBINATION OF SECTIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

CONCRETE ANCHORS
(SEE SCHEDULE)

POURED CONCRETE |

REQUIRED —1" _+.I |
\ i I\

G
]

‘ALTERNATE
LEG LOCATION

1/4°8-20x3/4"
BOLTS W/
7/8"%3/32"

WING NUT
@ 12" oc.

|

A
|

SEE SCHEDULE FOR

= Min. SEPARATION ™

} TO GLASS

1/4%0-20x3/4"
BOLTS W/
7/8°%3/32"
WING NUT
o 12" o.C.

|
|
|
|

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 8)

REQUIRED |

CONCRETE ANCHORS/(L

(SEE SCHEDULE)

Al

7" |

POURED CONCRETE |
"]

CEILI

& FLOOR MOUNTING

INSTALLATION — SECTION 5

SCALE : 3/8" = 1"

CONCRETE ANCHORS
(SEE SCHEDULE)\ N

—_— L) [}
- - [~ %
= 18§ R
N
POURED Q,
CONCRETE L
REQUIRED
Cont.

d
EXISTING —/

GLASS |

SEE SCHEDULE FOR
™ Min. SEPARATION ™
! TO GLASS

o>

|

1/4%9-20x1" S.8.
M.S. W/ 7/8%9x3/32"
WING NUT @ 12" 0.C.

POURED —/

CONCRETE

OR CONCRETE |
BLOCK WALL q
REQUIRED "

74 U

—

750"
Min

T

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

e

—
CONCRETE ANCHORS v
(SEE SCHEDULE)

H 375"

Cont.

WALL MOUNTING INSTALLATION |

SECTION 6

SCALE : 3/8" = 1"

PRODUCT REVISED

as complying with b ;
Buiding Coge ¢ Florida
Acceptance No©3 -07/(,
Expisation Dasc 0

Division

F.B.C.(HV.H.Z.)/MIAMI-DADE COUNTY

Jot-8 o]

/TitlEcome. \

TILLIT TESTING & ENGINEERING COMPANY
6555 NW. J6th, St, Ste. 217, VIRGINA GARDENS. Fl, 33166
: (305)871-1530 . Fax : (305)671~1531

Fhone

EB~0Q06719
WALTER A, TILLIT Jr. P. E
FLORIDA Lic. # 44167

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL Assgj['z“’”
7/3/03
EASTERN METAL SUPPLY, INC paTE
4268 WESTROADS DRIVE
RIVIERA BEACH, FL 33407 03—-143
REY. No DESCRIPTION DATE REV. No DESCRIFTION - ATE DRAWING Neo
. oo oi-amt /00 - = SHEET 4 OF 15




CALK—IN OR ELCO male/female FANELMATE
OR ELCO male/female PANELMATE PLUS

@ 1/4 ﬂ-—20 SIDEWALK BOLT OR @
& /1/4"8-20 TRUSSHEAD BOLT + +
(SEE SCHEDULE FOR SPACING)

CALK~IN OR ELCO male/female FANELMATE

OR ELCO male/female PANELMATE PLUS

744 v—-20 SIDEWALK BOLT OR ®
1/4'@—20 TRUSSHEAD BOLT + +

POURED
CONCRETE
REQUIRED

SEE SCHEDULE FOR
<= Min. SEPARATION =
TO GLASS

’ Y
1/4"0-20x1" 5.5. M.S.
W/ 7/8%0x3/32"
WING NUT @ 12* 0.C.

|

|
POURED /

CONCRETE

OR CONGRETE
BLOCK WALL q
REQUIRED W

(SeE SCHEDULE FOR SPACING)

7/8"9x3/32"
/ Wine NOTS @ 12” O.C.

Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

L=

e =|_+.J75"
CONCRETE ANCHORS
(SEE SCHEDULE)

WALL MOUNTING INSTALLATION

SECTION 7

SCALE : 3/8" = 1"

E. D. = EDGE DISTANCE
(SEE. SCHEDULE ON
SHEETS 10 & 11 OF 15)

ol |
— REl |
—EZ= | I
(.
| | I
: o
POURED " | I
CONCRETE | L
REQUIRED _\
| N O] B
t | f E
| Lo S
| i | .
| | 3
SEE SCHEDULE FOR_| | g
™ Min._ SEPARATION L T
TO GLASS | L b
Ly
A L1 &
J\V’ -
I P £
| oo
| o §
I { I o
g
| [ f g
7/8"0x3/32" ; I -
WING NUT @ | L 5
EVERY, STUD \I D 3
12" 0.C. -
[
| | |
POURED S | L
CONCRETE ) l .
OR CONCRETE W il [
BLOGK WALL L \
REQUIRED % | | S ¥
L == R
7 7 875" ||
CONCRETE ANCHORS T
(SEE SCHEDULE)
Cont,

WALL MOUNTING INSTALLATION

SECTION 8

SCALE : 3/8" = 1"

NOTE FOR_CO, (o) TIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

+ +

SIDE WALK BOLTS ARE J 4 ﬂxJ .32'7HICK
HEAD MACHINE SCREW

AS PER NOTES A2 & 52 (SHEE[ 1)

SS HEAD BOLTS ARE 1 2"¢x1/8"THICK
HEAD MACHINE SCREW W/LENG
AS PER NOTES A2 & B.2 (SHEET 1)

— -

CONCRETE ANCHORS
(SEE SCHEDULE)\ ED
POURED
CONCRETE {"i
REQUIRED — o ro.
NN N\
F s
| | il RE
| I (/.
l : : } [ : ) Cont.
| l r IL
[ f !
| | O
l | 1 | g
| | |
| | Lo S
i I [ y
SEE SCHEDULE FOR | ! | 5
—  Min. SEPARATION | [ )
TO GLASS | L 3
n
| Al L N
| /% T T T @
| | l
| | 5
| 0
I | | I "
| J |
1 | | I E
7/8"x3/32* | (. 3
W [ f =~ ) =
| EerTe | o
‘ @ 12" 0.C. L
[
‘ f i
Cont. f I .
<1 |5
ALTERNAT, !
i WO Ry | 8
I’_ E;:D _________'__ - . — "1 .
AV, / /1 ’ EDGE OF
| POURED 1T SLAB IF
L‘f AL APPLICABLE
CONCRETE ANCHORS J__ £0.”]
(SEE SCHEDULE) -
CEILING & FLOOR MOUNTING
INSTALLATION SECTION 9
SCALE ; 3/8" = 1* PRODUCT REVISED

as complying with the Florida
Buiding Code

Aceeptance No O3 — NY2
Expiration Date © o7

By A
Midmi Da cf Coltfrol
Division

F.B.C.(HV.H.Z.) /MIAMI-DADE COUNTY

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| 45 SHOWN

SCALE

/TitlEcom:. \

TILLIT TESTING & ENGINEERING COMFANY
6585 NW. 38th, S,
: (308)a71~ 15.!0 Fax

WALTER A. TILLIT Jr. P,

7/3/03
EASTERN METAL SUPPLY, INC PATE
4268 WESTROADS DRIVE
ING COMPANY. RIVIERA BEACH, FL 33407 03—143
(J05)£71 1531 REV, No DESCRIPTION DATE REV. Mo DESCRIPTION MIE DRAWING Na
, £, 1 OLD 01-251 7/3/03 3 = =
FLORIDA Lic. § 44167 P - - r; - — SHEET 5 OF 15




\ EXISTING

BRICK VEENER

1 1/4" MIN,.
PENETRATION TO
| CONCRETE BLOCK
& 2" TO CONCRETE . -

WALL REQUIRED (SEE SCHEDULE FOR SFACING).

POURED CONCRETE / \ Z1/4'¢x8" ELCO mals
OR CONCRETE BLOCK PANELMATE TVAS ANCHORS
i

EXISTING
STEEL ANGLE LINTEL
AS APPLICABLE

T—

T0 GLASS

1 14T MIN.
PENETRATION TO - |
| CONCRETE BLOCK'
& 2" TO CONCRETE

SEE SCHEDULE FOR
Min. SEPARATION

BOLTS W/ 7/8°ex3/32"

%>

EXISTING
BRICK SILL

1/4*9-20x3/4"

WING NUT @ 127 O.C.

EXISTING
FLASHING AS
/ APPLICABLE

N
N
1/2"

e e e e B ==

3/4”
Min.

' Cont. [
I / g3
)
|
[
|
N

"L” Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

| Cant.

EXISTING
BRICK
VEENER

)
} 3 1/2"
[ Max,

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

1/4"¢x8" ELCO male
PANELMATE TVAS ANCHORS
(SEE SCHEDULE FOR SPACING).

BUILD OUT INSTALLATION
SECTION 10

SCALE : 3/8" = 1*

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 10 & 11 OF 15)

WALL MOUNTING SECTIONS CAN BE

NOTE FOR COMBINATION OF SECTIONS:

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

CONCRETE ANCHORS
(SEE SCHEDULE)\_

S

AUN -

—E== N
[ &3
3
T
5
POURED )
CONCRETE
REQUIRED \ Cont.

|
|
|
EXISTING—"
GLASS !
SEE SCHEDULE FOR |
Min. SEPARATION
70 GLASS

—

&

<

!
1/4"¢—-20x1" S.5. M.5.
V’/( 7/8"¢x3/32'
WING l|JT @ 12" o.c
|

|
l

POURED / /

CONCRETE

OR CONCRETE |
BLOCK WALL S
REQUIRED .

Moax. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

L=
CONCRETE ANCHORS _/~ — 7
(SEE SCHEDULE)

Cant.

SECTION 11A

CONCRETE ANCHORS

(SEE SCHEDULE)\ .
RN -
—t=_ 53
Q=
—
S | oo
POURED W | [
CONCRETE | |
REQUIRED \ : | Cont.
| I
i |
| |
| I C
GLASS SEE SCHEDULE FOR | 1
Min. SEPARATION | |
10 GlASS | |
/\, | |
"\

DETAIL 2/7

3/4"

>
|

EXISTING —/i
l
|
|
|
|
!
l
l
|
|

|
1/4%0-20x1" 5.5. M.S.
W/ 7/8%0x3/32"

WING"NUT @ 12* o.c.
| |

I

/ |
POURED |

CONCRETE

OR CONCRETE ) l
BLOCK WALL S

REQUIRED W |

HjE:
45

"L” Max. PANEL LENGTH (SEE SCHEDULE, SHEET 9)

|

|
|
l
l
|
!
|
|
|
I
!
I
|
|
|
!
l
|
I
|
|
|
l

750"
Min,

L=
CONCRETE ANCHORS _f~ — 7
(SEE SCHEDULE)

Cont,

SECTION 118

WALL MOUNTING INSTALLATIONS

SECTIONS 11

SCALE : 3/8° = 1”

WITH INTERIORLY REMOVABLE PANELS

e NS
INTERIORLY REMOVABLE PANEL @ W/

SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED TO (1) THRU 5/8%¢
HOLES AT (1)) @ 6” OC & FASTENED
AT REAR W/ 7/8"wx3/32" WING NUT
@ "EVERY SIDEWALK BOLT.

PRODUCT REVISED

as complying with the Florida
Buiding Code

Acceptance No 03 - 067 6.02
Expiration Date 673

roduct Control

Division

F.B.C.(HV.H.Z.)/MIAMI-DADE GOUNTY

o e e o

JUL 03 2003

/ TitlEco e \

TILLIT TESTING d ENGINEERING COMFPANY
6555 N.W. 36th, St., Ste. 217, WRCINA GARDENS, Fl. 22168
Phene : (105}871-1530 . Fax ; (305)871-1531

EB-0006718
WALTER A. TILLIT Jr. P, E.
FLORIDA Lic, # 44167

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| 45 SHOWN
7/3/03
EASTERN METAL SUPPLY, INC DATE
4268 WESTROADS DRIVE
RIVIERA BEACH, FL 33407 03—143
REV. Mo DESCRIFTION DATE | REV. Mo DESCRPTION PATE DRAWING Na
L o ai-z1 73/ - - — sueer 6 oF 15




CONCRETE ANCHORS E D CONCRETE ANCHORS E D
(SEE SCHEDULE )\_ (SEE SCHEDULE )\_
1
POURED CONCRETE I POURED CONCRETE
REGUIRED ~— EQ. i1 £Q.—] EQ.—
N N

] A 3
ol W ot
I 82 | I

‘———@ Cont. ‘

|
|
| l
|

SEE SCHEDULE FOR
™" Min. SEPARATION ™
TO GLASS

JSEE SCHEDULE FOR
"~ Min. SEPARATION
‘ T0 GLASS

~—(4) cont.
L

A
A

l
|
|
|
|
|
|
|
|
|
|
|
l
I
|
I
|
|
I
|
|
|
|
I

«@

7/8"ex3/32"
WING NUT @

‘Max. PANEL LENGTH (SEE SCHEDULE, SHEET g)

i
REQUIRED ~— EQ. _{"{—
—\ NN
|

|

|

:

|

:

|

|

|

|

|

|

5

z

:

|

|

|

|

|

|

n

s

z

|

&

Mox. PANEL LENGTH (SEE SCHEDULE, SHEET 8)

(: — 7/8"ox3/32"
Cont, WING NUT ©
[ 1  EVERY STUD
o . 83 @ 12" 0.C
S N <: S g
T‘ L_._IT;:,’II__, —] Cont. [
&
x
_/ A EDGE OF ué_ 8§
POURED CONCRETE PN ~—SLAB IF A\ y
REQUIRED il APPLICABLE w T
yan 7
EDGE OF
COI}ISCE.‘_?ET gcflggﬁfgs)‘/ ED POURED CONCRETE-—/ -—SLAB IF
REQUIRED APPLICABLE
CONCRETE ANCHORS
(SEE SCHEDULE ) E D. 4

SECTION 12A

CEILING & FLOOR MOUNTINC INSTALLATIONS

SECTIONS 12

SCALE : 3/8" = 1"

1/4"~20x1" 5.5. SIDEWALK BOLTS,
W/3/4" SLOTTED HEAD, FIXED TO
INTERIORLY REMOVABLE PANEL ()

SECTION 128

INSTALLATIONS VALID FOR PANELS

HOLES AT
AT REAR W/ 7/8"8x3/32"° WING NUT

INTERIORLY REMOVABLE PANEL @W/

SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED TO THRU 5/8"%
@ 6° 0.C & FASTENED

@ EVERY SIDEWALK BOLT.

CONCRETE ANCHORS CONCRETE ANCHORS
(SEE SCHEDULE )\ E D (SEE SCHEDULE )
E D.
POURED POURED
CONCR’ETE | ‘i CONCRETE H
REQUIRED
REQUIRED —\ — £0.—l-£0.— \ — EQ —1T £Q.—
NI N N NN
s Bl
Qfx
J RS %3

WING NUT @
EVERY STUD
@ 12” o.C.

r
' I
| |
| |
l |
| |
| |
| | o |
| I
SEE SCHEDULE FOR SEE SCHEDULE FOR
. SEPARATION ] i :E: [ Min._SEPARATION —
) > |
‘ TO GLASS | 1_.@ ) TO GLASS I
| | 3 I
| B e |
l | S At
| | N Ny
‘ Al | i '
A— | 4 DETAL 2 |
3 |
| | | 5 N
| | | §
| I
| | l g
| I g
| 78" n3/32" | l .
o
| 1) b
l | !
!
‘ |
!
‘ |
l
|

|
|

|

|

| |

|
O
|

|

|

;

Max. PANEL LENGTH (SEE SCHEDULE, SHEET 89)

7/8"on3/32"
. WING NUT ©
] EVERY STUD  \
Cont. [ @ 12% 0.C.
]
ALTERNATE LEG % ;[ ¢ g3
N OIS N3 -
/—LOCATION N© Qs
| T cont. ~
L] R
N7 7 A1 EDGE OF | ALTERNATE LEG Slg | ﬁg\
| g~ ] SLAB IF LOCATION N b | N
[l N APPLICABLEI / 7 = = : —
i sl e = ™ 1
L POURED
CONCRETE  CONCRETE ANCHORS /JI Ii/ /Hl/
REQUIRED (SEE SCHEDULE)™ | pp 7| X I .%_1 -
POURED CONCRETE ANCHORS
— CONCRETE (see scHepuLe )~ T
QUIR l—£0.2+

SECTION 13A SECTION 138

CEILING & FLOOR MOUNTING INSTALLATIONS
SECTIONS 13

SCALE : 3/8" = 1"

USED JOINTLY

WITH INTERIORLY REMOVABLE PANELS{;)

E. D. = EDGE DISTANCE

(SEE SCHEDULE ON

SHEET 10 & 11 OF 15)

INTERIORLY REMOVABLE PANEL (1)W/
SIDEWALK BOLTS (SEE DETAIL 2)
CONNECTED TO (1) THRU 5/8"¢

HOLES AT @ @ 6" 0.C & FASTENED

AT REAR W/ 7/8"8x3/32" WING NUT

© EVERY ‘SIDEWALK BOLT.

PRODUCT REVISED
as complying with the Fiorida
Buiding Code

Accepiance No OS - © NY
Expiration Date O 07

Bivision

F.B.C.(HV.H.Z.)/MIAMI~DADE COUNTY

7/8"8x3/32" THRU KEY HOLE (2) @ 6” O.cC. /@
X -
WING NUT @ W/ 1/4™-20 NUT 4T REAR. REMOVABLE
@ 6" 0.C PANEL
f ->'\ | ['
|
v g \ =1 1] j | :
o & i —H- 3 ! |
3 M o
L | S
—t |
18755+ I+ [
DETAIL 2 ~ INSTALLATION OF 1/4"x1"
SIDEWALK BOLTS © REMOVABLE PANEL

NQTE FOR COMBINATION OF SECTIONS;

FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

e

e

JUL 9 3 2003

/ liLlEco |Nc.\

TILLIT TESTING & ENGINEERING COMPANY
\E595 N.W. 36th, St, Ste. 217, VIRGINA GARDENS, Fi. 33186
Phone : (305)871~1830 . Fux : (205)B71~1531
£B—-0006719
WALTER A. TILLIT Jr. P. E

FLORIDA Lic. # 44167

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL ‘“SsgjLDEW”
7/3/03
EASTERN METAL SUPPLY, INC DATE
4268 WESTROADS DRIVE
RIVIERA BEACH, FL 33407 03—143
REV. Ko DESCRIPTION DATE REV. No DESCRYPTION DATE DRA WING No
L oLb ai-zal {/s/d = - SHEET 7 OF 15




J]

1/4” Max, GAP

oo

1/4" Max. GAP

B

BN ANAN

IN TN TN T

SECTION B-B

SCALE : 1/8" = 1”

11B/8, P 118/6,
(WHOLE) (WHOLE) 12,138/7 12,138/7
BUT NOTCHED 1/4"~20x1" S.5.
EA CORNER © SIDEWALK BOLTS.
gggrv%l AS [ SEE DETALS 2/7,
A : \ 2/15. \ (WHOLE)
9
N
N
N a4
P 118/6, L. 118/6,
12,13B/7 12,13B/7
3" CONCRETE ANCHORS (SEE SCHEDULE) B L.
Max. Max.
1 Min. 1 Min.

INTERIORLY REMOVABLE STORM PANEL

PARTIAL ELEVATION Y

SCALE : 1/8" = 1"

<

INTERIORLY REMOVABLE PANEL (DW/
SIDEWALK BOLTS (SEE DETAILS

2/7, 2/14) CONNECTED TO (1)) THRU
5/8"8 HOLES AT () @ 6" 0.C &

FASTENED AT REAR W/7/8"#x3/32"
WING NUT @ EVERY SIDEWALK BOLT,

PRODUCT REVISED

as complying with the Fiori
Buiding Code rid

Acceptance No O3 - 07/ 6 - 07
Expiration Date 7

By d
angmi DadeProduct Contral
Division

F.B.C.(HV.H.Z)/MIAMI—DADE COUNTY

JUL 0 3 2003

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| Ao

7/3/03

| IL | ECO nc EASTERN METAL SUPPLY, INC oAz

. 4268 WESTROADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 03—143
6595 N.W. .!E_fh. S!J Ste. 217, WRGIN_M GARDENS, Fi. JX166 N
Phone : (305, 57}5 1_5.!02 06[:';)(1 9 {305)871—1531 T DESCRETION OATE v He DATE DRAWING No
WALTER A TILUT Jr. P. E. 1 o o1-zs1 | 7/5/0%] 3 - -
FLORIDA Lic. # 4r4767 2z - - 4 - - SHEET 8 OF 15




CUT PANEL

D

2'%4°x1/8"
J105-H14
OR 6063-T6
ALLOY Cont.
Alum. ANGLE

CASE A (Plan)

SCALE: 1/4* = 1"

VARIES

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

90" < L g 135°

IS
it
]

500" Min.

WALL REQUIRED

CONCRETE ANCHORS
/ @ 12* 0.c

POURED CONCRETE
OR CONCRETE BLOCK
Ve

)

IN
A
“~Max |
[
[
!

5"

1/4% BOLT
@ 24 o.c.
W,/JACKNUT

“ OR@DR@OR‘
_AH OR@GR@

4"%4"%.072"
J105—-H14
OR 6063-T6
ALLOY Cont,

CASE B (Plan) *vm 4w

SCALE: 1/4" = 1"

MAXIMUM DESIGN PRESSURE RATING "W (p.s.f.) AND

2°%3"%.093" 3105 H-14 OR
6063—T6 ALLOY Cont. Alum.
ANGLE WITH ANCHORS

@ 12" o.C.

»

7
1.000
1.000"

—

AV

HALF PANEL

NG

CASE D (Plan)

SCALE: 1/4" = 1"

> 1/4* GAP

POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED

POURED CONCRETE
OR CONCRETE ELocr\
WALL REQUIRED

~—2.500" Min.
CONCRETE ANCHORS 2.500°
@ 12* 0.C. — 2800}
Min.
T~k
NN\ N
| — ot
1.0007)|

2'%2"%.055" /

TO 2"%x5°%.055" Cont.
Alum, ANGLE OR .080"
J105-H154 SHEET
METAL Alum. BENT PLATE

ALTERNATE LEG LOCATION

CASE C (Plan)

SCALE: 1/4" = 1”

END CLOSURES DETAILS

CORRESPONDING MAXIMUM PANEL LENGTH 'L” SCHEDULE

. APPLICABLE TO
MY DESIGN | Max. P Ven) ™ | MM seParaTion|  SECTIONS £ &
W (p.s.f) (SEE SECTIONS) 10 GLASS ANY COMBINATION
+65.0, -72.0 | 9'-0" OR LESS 3 172" 8
+63.5, —63.5 | 9'-0" OR LESS 3 1/8” 3
+65.0, ~65.0 | 9'-0” OR LESS 3 3/4" 4
+65.0, -=72.0 | 9'-0" OR LESS 3 1/4° 5
+63.5, ~63.5 | 9'-0” OR LESS 3 1/2" 1, 2,6 7 11
+65.0, —65.0 | 9'-0" OR LESS 3 1/2" g 12, 13
+63.5, —-63.5 | 9'-0" OR LESS 3 3/4" 10
PRODUCT REVISED
as eomplymg with the F}
Buiding Code orida
Accepiance No 63 - 07l6 ol
Expiration Date 63 /7 p

F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY

JUL 0 3 2003

/TitlEcom: \

TILLIT TESTING & ENGINEERING COMPANY
6595 N.W. 35th, St., Ste. 217, IRGINIA GARDENS, Fl. 33166

Fhone : (305J871-1830 . Fax : (305)871—1531
EB—-0006719

WALTER A. TILLIT Jr. P. E. 1

FLORIDA Lic. # 44167 2

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| 45 2HOWN
7/3/03
EASTERN METAL SUPPLY, INC DATE
4268 WESTROADS DRIVE
RIVIERA BEACH, FL 33407 03—143
REY. No DESCRTION DATE | REV. Mo DRICRIFTION DATE DRAWING No
Qb oi-za1 {7/ =~ - SHEET 9 OF 15




MAXIMUM DESIGN PRESSURE RATING "W' (p.s.f) AND CORRESPONDING MAXIMU CHO.

MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2"% APPLICABLE TO
SECTIONS # & MAXIMUM PANEL
DESIGN LOAD REGULAR TAPCONS CRETE-FLEX 5S4 ZAMAC NAILIN CALK—IN CF TAP—-GRIP PANELMATES PANELMATE PLUS 410 S.S. TAPCON ANY COMBINATION LENGTH L™ (1) E D. = EDGE DISTANCE
W (pst) TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TD CONCRETE | T0 MASONRY | TO CONCRETE | TO MASONRY | 10 CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY OF THEM -
8" N/A N/A N/A 4" NA 8" N/A 5" N/A 3 172" N/A N/A N/A N/A N/A 1 (TOP)
12% a” N/A N/A 12” 10" 12” 12* 12* 8" 11” 11" 12* 12* N/A N/A 1 (BOTTOM)
12" N/A N/A N/A 12° N/A 12" N/A 12" N/A 11" N/A N/A N/A N/A N/A 2 (ToP)
12* 8 N/A N/A 12* 10" 12* 12" 12" 8" 1" 1" 12* 12* N/A N/A 2 (BoTTOM)
12" N/A N/A N/A 12° N/A 12" N/A 12" N/A 11* N/A N/A N/A - N/A N/A J (TOP)
12" 8" N/A N/A 12" 10" 12* 12* 12" 8" 1" 1" 12* 12* N/A N/A 3 (BOTTOM)
11" N/A 12" N/A 7 1/2" N/A 11 1/2* N/A 8 1/2* N/A 12” N/A 12" N/A 12" N/A 4 (TOP/BOTTOM)
10* N/A 12* N/A 6 172" N/A 10 1/2% N/A 7' N/A 12” N/A 12° N/A - N/A 5 (TOP/BOTTOM)
12* N/A 12" N/A N/A N/A 12* N/A N/A N/A 12* N/A 12* N/A 12" N/A & (TOP)
+63.5, —63.5 127 8" 12* 12° N/A N/A 127 12* N/A N/A 12 11* 12” 9" 12” 10° 6 (BOTTOM) 9'-0" OR LESS
N/A N/A N/A N/A N/A N/A 12° N/A N/A N/A 12" N/A 12" N/A N/A N/A 7 (ToP)
12* 7 1/2" 12" 12" N/A N/A 12* 10 1/2* N/A N/A 12" 10" 12* 8 1/2* 12* 9* 7 (BOTTOM)
12" N/A4 12" N/A N/A N/A 12" N/A N/A N/A 12" N/A 12° N/A 12° N/A 9 (TOP)
1m* N/A 12* N/A N/A N/A 11 1/2" N/A N/A N/A 12" N/A 12" N/A 12" N/A 9 (BOTTOM)
N/A N/A N/A N/A N/A N/A N/A N/A N4 N/A 12* 1" N/A NA N/A NA 10 (ToP)
N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A 12" 6* N/A N/A N/A N/A 10 (BOTTOM)
12° N/A 12* N/A N/A N/A 12* N/A N/A N/A 12" N/A 12" N/A 12* N/A 11 (TOP)
127 8 12 12 N/A N/A 12* 12 N/A N/A 12* 11* 12" g* 12" 10" 11 (BOTTOM)
12* N/A 12° N/A N/A N/A 12~ N/A N/A N/A 12" N/A 12" N/A 12" NA 12 (T0P)
1" N/A 12" NA N/A N/A 11 1/2" NA N/A N/A 12* N/A 12" N/A 12" NA 12 (BOTTOM)
12° N/A 12* N/A N/A N/A 12" N/A N/A N/A 12" N/A 12* N/A 12" N/A 13 (TOP)
1" N/A 12" NA N/A N/A 11 1/2" N/A N/A N/A 12” N/A 12* N/A 12" N/A 12 (BGTTOM)
PRODUCT REVISED
as complying with the Florida
Buiding Code :
Acceptance No 02 ~07/6.02.
* MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2° EDGE DISTANCE FOR E. D. LESS THAN 3 }/2‘, Expiration Date O
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS.
(NOTE: Min. E. D. FOR CALK~IN ANCHORS IS 2 1/27) By,
FOR THIS  OPERATION TO BE POSIBLE, REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE Mi
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND. am
ANCHORS LEGEND Division
FACTOR .
ACTLAL E. D. REGULAR TAPCON, 410 5.5. TAPCON, CRETE~FLEX SS54, ' - b Min
o T £ ' CALK-IN |CF TAP—GRIP ANCHOR TYPE ANCHOR
ZAMAG NAILING, PANELMATE OR FANELMATE PLUS. SPACING F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY
3 -86 75 1.00 REGULAR TAPCON, 410 S.S. TAPCON, CRETE-FLEX 554, 20" . S SHOWN
2 12" 71 50 80 ZAMAC NAILING, CF TAP—GRIP, PANELMATE OR PANELMATE PLUS. . 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL SCALE
2" .50 - - CALK—IN T Y

7/3/03
/ IILIECO.NC. \ EASTERN METAL SUPPLY, INC | o=

4268 WESTROADS DRIVE

@-&»@»@ TILLIT TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 03—143
T 6555 N.W. J5th, St Ste. 217, WRCINA GARDENS, Fi, 33168

ﬂUi 0 3 2803 D> Phons : (Jw}";_-g ’ﬂ)aa P 6‘F;X1 ; (305)871-1531 — —— T — — DRAWING No
Rt 3 WALTER A. TILLIT Jr. P. E. 1 O 0i-251_|7/3/03| s - .
FLORIDA Lic. # 44167 2 - " p) e -y SHEET 10 OF 15




IN SCHED

S ALLATIO S INTO

NCRE’TE BLOCK STRU

MAXIMUM ANCHORS SFACING FOR E. D. = 3 1/2"n APPLICABLE TO
MAXIMUM SECTIONS # & MAXIMUM PANEL
DESIGN LOAD REGULAR TAFCONS CRETE-FLEX 554 ZAMAC NAILIN CALK—IN CF TAP-GRIP PANELMATES PANELMATE PLUS 410 S.5. TAPCON ANY COMBINATION _J-ENgTH k. [E g
¥ (p.st) TO EONCRETE | TO MASONRY | TO CONERETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE| TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE| TO MASONRY OF THEM - o S
+65.0, -65.0) 9 1/2" N/A N/A N/A 6 1/2" N/A 10" N/A 7" N/A 5° N/A N/A N/A N/A N/A 4 (TOR/BOTTOM)
9" N/A 12 N/A N/A NA | 91/2° | N/A N/A " N/A 12" A 10” NA__|5 (TOP/BOTTOM)| . . op 1kss
+65.0, 720 N/ N/A N/A N/A N/A N/A 12* N/A N/A N/A 12* N/A 12° N/A N/A N/A 8 (ToP)
12" 7 1/2° 12* 12" N/A N/A 12" 10 1/2* N/A N/A 12* 10" 12" 8 1/2* 12" 9" 8 (BOTTOM)
* MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2” EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2*
REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS.
(NOTE: Min. E. D. FOR CALK—IN ANCHORS IS 2 1/2
FOR THIS OPERATION TO BE POSIELE, REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE
LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.
ANCHORS LEGEND
FACTOR
ACTUAL E. D. REGULAR TAPCON, 410 S.5. TAPCON, CRETE~FLEX 554, Min.
ZAMAC NAILING, PANELMATE OR PANELMATE PLUS. CALK=IN |CF TAP-GRIP ANCHOR TYPE ancHoR
3 i 75 1.00 REGULAR TAPCON, 410 S.S. TAPCON, CRETE-FLEX SS4, . 20
2z 12" 71 50 20 ZAMAC NAILING, CF TAP—GRIP, PANELMATE OR PANELMATE PLUS.
P .50 - - CALK—IN 25"

E. D. = EDGE DISTANCE

PRODUCT REVISED
as complying with the Floxida
Buiding Code
Acceptance NoO
Expirzation Date OS5 /

!’V*

Division

F.B.C.(H.V.H.Z.)/MIAMI—-DADE COUNTY

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| A SHOMN
7/3/03
I".IE C O nc EASTERN METAL SUPPLY, INC bare
, : 4268 WESTROADS DRIVE
— TILLIT TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 03—143
( 3 o g 95 N.W. Jﬂ‘"l Stj Ste. 217, VIRGINIA 5DENS }5'[ 33166 DRAWING N
il == (303)67 [ (Aos)671-1531 REV. Ko DESGRIPTION DATE_|_REV. No DRSCRETION ATE °
B T— WALTER A, TILLIT Jr. P. E. 1 o oi-2st  17/3/e3l 3 = =
JUi. 0 3 2003 FLORIDA Lic. § 44167 z = = 4 = —_| SHEET 17 OF 15




1°%2%1/8" (Min.) Alum. TUBE
W/ 1/4"8x4” LONG LAG SCREWS

1/4"9x3" LONG LAG

¥ = » @ 6° 0.C. W 1 27/32" Min. "
=T e s, ST i o B oo Ima——|
| 10 ExisTing wooD HEADER. : 1/4"9x3° LONG LAG SCREWS @
. / . 6" 0.C. W/ 1 27/32" Min.
><l e - PENHFATIéN 0 éwané wooo
1/ /——HEADER.
. ? r—————
" .Q o . 7 . .
i —L§ a 1 ) oN [ .
“!|§ = } |§ Ré i 8 gﬁ
' 1 W—r -5 : : ~ —
10 T RiE i
3 @
3 Gont \ _ : : ~—~(2) Cont. :
N N Cont.
| - Ll B
p=k |
*(:) WOOD HEADER ‘{) WOOD HEADER '“@
H ;’Egﬂﬁﬁg"m : : I REQUIRED : : | A | REQUIRED | |
g | 3 || | £
"SEE SCHEDULE FOR| [ §, SEE SCHEDULE FOR | | | % u SEE SCHEDULE FOR | | %
~=t Min. SEPARATION r l | m —  Min. SEPARATION - Min, SEPARATION o
| 10 6lass ? || TO GLASS | | 4 " T0 GLASS | 9
| } Il § || - $ A Al g
I W T | | ] ! Ly
& ry
| A g e < ALTERNATIVE 5 8
= 5 iy
ALTERNATIVE 1 : : : ) :
3 F14x3/4” S.S, v =
| > ry o
A %1 |1s.M.s. @ 6” 0.C. 3 | g
[ T g Ly ° | g
! 1 Lo 3 ST - .
| . 1 ><= : T o 2
| | |7/emaeer n i8S 174 8-20 S.S. 4 O
EVERY STUD © - | |-7/8"8x3/32" : l
] | [ b T -. ,
L SR | | b ! T _je1z'oc
<) . ! .
"”} = IS, ¥ | g : 2%4" PLATE ] Cont. \ 1/4%0-20 S.S.
2 15t | N=F - Cont. REQUIRED -_-.-. BoLTS W/
T { . - ) g . v AN 7/8%x3/32"
: iy | T . WING NUT
: l~_—‘?—@ Cont. / s 1%4°%1/8" (Min.) : : © 12" oC.
. om wooD' STUD " 6063-T5 Alum. TUBE (Cont.) .
2yt pATe ||| IR W}A 7 g‘;%;’f i R HEE @1/ 1/4°8x3" LAG
REQUIRED " -G i, QUIR, KK 2)1/478x4" LAG SCREWS & « Y
1 et s lomor fia el 7o oo = | | pmEesacw |
A [+ g STUD, 2" Min. NOMINAL) AND A O WOWDTH OF PLATE
- W/ 2" Min. PENETRATION INTO : )
! EXISTING STUD.
ALTERNATIVE 2 ALTERNATIVE 4 ALTERNATIVE 6
I Lo
|z s rn || WALL MOUNTING INSTALLATIONS
- n. — .
sl P SECTION A SoME ¢ 1/4" = 1" a5 complying it s Florida
Iy /420 5.5 I NO BINATION O X Buidie, to Witk Ehe Flori
” BOLTS W/ I ! A ﬂiﬂg Code 3 /é 01
7/8% x 3/32* : €C :
ﬂg’“%ﬁ"é.’c. | : Ll MOLNTING SECTIONS LAl BE (COMBINED INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS Expirailop Daic 0572,
LIm By [feA
/IH:"" | Miamﬂ)a
E]— R : Bivision
[« Y
LuJ_ 6)Cont.
} \ g NOTES: F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY
\_ 1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +63.5," ; \ 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| S SHOWN
2" PLATE LlV—1/4"0x3" LAG SCREWS © —63.5 psf AND PANEL'S LENGTHS UP TO 8'-0", EXCEPT AS NOTED.
requren |1+ 6, OC W I 27/32 2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH : 7/3/03
. MIDWIDTH OF PLATE, 19 Z M. M. C. W/ SPECIFIC DENSITY OF 0.55. IL E c o E A STE RN ME TAL SUPPLY' INC DATE
- 3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN m I I INC. 1268 WESTROADS DRVE
5 E— PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. - LLIT TESTINGS:* Ef;avl,/:e-:-fmc ﬁsacglpgg:a RIVIERA BEACH, FL 33407 03—143
B R 5 N.W. 36th, St, o, 217, 'GINIA GARDENS, Fi.
A L TE RNA TI VE 3 le ﬁ }B le " B FPhona : (Jas}a}y_s% ; ;;.1 5 (305)871-1521 — :LE::T":;’ 72;; m_‘ m prm—— Py DRAWING Ne
WAL . TLUT Jr. P. E 1 = - -
FLE}??IDQ Lic. # 14167 r - - v - SHEET 12 OF 15




WOOD TRUSSES OR RAFTER
© 24" 0.C. REQUIRED

WOOD TRUSSES OR RAFTER
@ 24" 0.C. REQUIRED
'_’\

=
250
Mox

O

Lt
@ 6" oC

-

I »
|

SEE SCHEDULE FOR :_
|

Min. SEPARATION
TO GLASS

A

¥

|
|
|
D
|

T~ 1%4%1,/8"

500"

Cont.

ALTERNATIVE 7
* VALID FOR Max. +65.0, —65.0 psf.

~—1"x4"x1/8"
Min. (6063—T5)
Alum. TUBE W/

14x3/4" "=1
.S, S.M.S.

Min. (6063-T5) © 6" O.C.

Altjm) TUBE W/

(2)5/16"2x4"

LAG SCREWS TO Cont.

EACH JOIST.

LOCATE SCREW | seE scrEDULE FOR

AT MIDWMIDTH OF
EXISTING WOOD
MEMBER (2° Min.
NOMINAL WIDTH)
W/ 2" Min.
PENETRATION,

= Min, SEPARATION
TO GLASS

2)5/16"ex4"
8" scheus 1o
EACH JOIST.
LOCATE SCREW
AT MIDWIDTH OF
EXISTING WooD

NOMINAL WIDTH)
W/ 2* Min.
PENETRATION.

+ - |
| (1) ||‘;°é7.f sz | O
7/8"ex3/32" X3/
| wne NUT @~ | . h@po{vct{r e\ | 127 x 6
EVERY, STUD 1 2" 6 || Hoop oEck
@ 127 0.C. WooD DECK ?ﬁg"%?/q
J— . REQUIRED
Sk |y EE | [
. ALLOWED, Cont. Min.
{0z |° o /[
v.i
Ea——

g

4"@;1 1/2” LAG

SCREWS @ 6 o.C.

ALTERNATIVE 8 =

x VALID FOR Max. +65.0, —65.0 psf.

/ ‘EO-LEQ.
1/4"ax1 1/2" LAG

SCREWS @ 6" 0.C.

ALTERNATIVE' 10

x VALID FOR Max. +63.5, —63.5 psf.

CEILING & FLOOR MOUNTING INSTALLATIONS

SCALE : 1/4" = 1*

NOTE _FOR COMBINATION OF SECTIONS:

WALL/FLOOR /CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

MEMBER (2" Min.

1/4"0x3" LONG LAG

SCREWS ©® 6" 0.C. W/

1 27/32" Min. PENETRATION
TO EXISTING WOOoD

HEADER.

'.:: ?/_‘.

250"
Max.,

I 8

Cont,

| woop Heaper
| REQUIRED

" SEE_SCHEDULE

SEPARATION
| “r0 oLass

ﬂ
ﬂ

—

!
i
l
|
|
|
l
|
l
|
|

REQUIRED

\4/4" 8 x 3" LAG

-O

1/48—20 S.5.
" BoLrs W/
7/8% x 3/32
WING NUT
@ 12" 0.C.

Max. PANEL LENGTH (SEE NOTES BELOW)

SCREWS ©@ 6" 0.C. W/
1 27/32" Min. PENETRATION
©® MIDWIDTH OF PLATE,

ALTERNATIVE 11 *

433" 0.0. x .634" LONG BRASS
BUSHING W/ 1/4°8-20x2"

S.S. S.MS. @ 12" 0.C.

FOR SPANS UP TO 5'-3" AND

A
VN

433" 0.D. x .634" LONG BRASS
BUSHING W/ 1/47¢-20x2"

5.S. S.MS ®© 12" G.C

FOR SPANS UP TO 5°-8” AND
@ 6" 0.C. FOR SPANS UP

TO 9'-0° Max. OR

1/49-20 ELCO male/female
PANELMATE ©® 12" O.C. W,

1 7/8" Min. PENETRATION

FOR SPAN UP TO §9'-0"

.. ‘{

T © 6 0.C. FOR SPANS UP
T0 9'-0" Max. OR
1/4"8-20 ELCO male/female
PANELMATE © 12* 0.C. W/
1 7/8" Min. PENETRATION
FOR SPAN UP TO 9'-0"

S d
5 |
N || B
| || g
i | | S
WOOD HEADER
| REGUIRED | - ﬁ
ﬂ | <
SEE_SCHEDLLE | | ] &
17 ror Min. 2
SEPARATION |~ | g
| o GLass N
I | l g
I A | I s
3
n L. o *
! |
! | 1/48-20 S.S.
i{ o ’E/OLTS w/
6 7/8%x3/32"
WING NUT
ﬁ ~ Cont. | @ 12° o.C
RN Y ¥
8 : IR ET/
aj!— o i —f o

N

REQUIRED

ALTERNATIVE 12 «
* VALID FOR Max. +63.5, —63.5 psf.

| REQUIRED

J SEE SCHEDULE

WOOD HEADER

1

|

FoR Min. |
SEPARATION [

TO GLASS |

|

Q
Ry

g

|
!
|
|
l
|
I
|
|
|

- -

\\—1/4 "ax3" LAG

SCREWS ® 6" 0.C. W/
1 27/32" Min. PENETRATION
© MIDWIDTH OF PLATE.

i::

kel |1 leubr i ]

1
I =D

|

| 7/6%x3/32"
WING NUT ©

| |every swo o

Max. PANEL LENGTH (SEE NOTES BELOW)

12° 0.C.

IV

\EE—m
18

1/4"8x3" LAG SCREWS @

Hox.
Cont.

2" x 4" PLATE 6" 0.C. W/ 1 27/32" Min.
REQUIRED PENETRATION @ MIDWIDTH
OF PLATE,

WALL MOUNTING INSTALLATION

SCALE : 1/4" = 1"

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,
~72.0 psf AND PANEL'S LENGTHS UP TO 9'-0°, EXCEPT AS NOTED.

2. NEW 2" x 6" P. T, TO BE SCUTHERN PINE No. 2, SURFACED DRY WITH
19 Z M. M. C. W/ SPECIFIC DENSITY OF 0.55.

3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

oo e,

N

SUL 932007

ALTERNATIVE 13

PRODUCT RE VISED

as complying wi .
Buiding Coge 1 Florida

Acceptance Np ©3 - 0
Expirvation Batg o

By H
Miﬂi adn/E : AL .
Bivision ; Foduct Control

6.02
207

:
2L/

F.B.C.(HV.H.Z.)/MIAMI—DADE COUNTY

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL| 45 2HOWN

7/3/03

|| L | ECO ne EASTERN METAL SUPPLY, INC ouTE

: 4268 WESTRDADS DRIVE
TILLIT TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 03—143
5585 N.W. JE‘lh. 5!}55%. 217, WRGIN{A GARDENS, Fl. 33166
Phone : (305, 71_;_5;% b EF;); [; (305)871-1531 o pr— e T v SeSoTon pvr DRAWING Ne
WALTER A TILLIT Jr. P. E. ] oD g1-251 7/3/03 [l -
FLORIDA Lic. # 14167 P = - - - SHEET 13 OF 15




1/4"0x1 1/2" S.8.
LAG SCREW ® 4" O.C.

SEE SCHEDULE FOR
Min, SEPARATION

| T0 GLASS
_l— l At

ALTERNATE LEG  Cont:

1 7/8" Min.
PENETRA TIOAA/ '\

[ on”

EXISTING
/— BRICK VEENER
A

l
l
|
|
|
|
|
|

ALTERNATIVE 14
Jh— I h |
|| n
u -y e
7/8%ax3/32" | |
R o
|
|

—

LOCATION

L\

Al

1/4"#x8" ELCO male

PANELMATE TVAS ANCHORS

@ 12" 0.C.

L

2" x 6%l
WOO0D DECK
REQUIRED
(NO FINISH
ALLOWED)

L

1/4%ex1 1/2" LAG S‘C‘I-i’EWS‘—A
@ 6° O.C.

ALTERNATIVE 15

CEILING & FLOOR
MOUNTING INSTALLATIONS

1/4°8x3" LONG LAG

| 1 1/4%8x3" LONG LAG
L/ | screws @ 6” o.c. w/
% | 1 27/32" Min. PENETRATION
% |- | T0_EXISTING WOOD HEADER.
; [ —I R
1 2
/ =+ 8 {4
¥ : T
£
/ ] %
/ . 'N 118 : : :————(:) Cont.
% PR \
= |
| woop Heaoer| |
Ii REQUIRED : -(D g
SEE SCHEDULE | | B
FOR Min, ?
sePARATION |~ |
TO GLASS N S
—‘L Wy
- — &
—/'QDEI'AIL 2/15 o =
[y L]
2
o EEEN ORI
i ~
|| I g
| O~ g
1/470-20 5.5.
I | M e 3
|| | yr/Emafszt
WING NUT
| 6 | ® 127 0.C.
|] Cont,
7 .
[
l“: 1375'
g V RS
™ 1/4"9x3" LAG
% SCREWS @ 8" 0.C. W/
1 27/32" Min. PENETRATION
% . © MIDWIDTH OF PLATE.
N 234° PLATE
REQUIRED & INTERIORLY REMOVABLE PANEL (DW/
L] SIDEWALK BOLTS (SEE DETAL 2)
/1 THRU 5/8"9

| 4" x 8” (Min.) EXISTING /1 /| SCREWS © 6" 0.C. W/
WOOD BEAM REQUIRED. % - | 1 27/32" Min. PENETRATION
STRUCTURAL ADEQUACY - | To EXISTING WOOD HEADER.
OF EXISTING WOOD . /] -

BEAM TO BE CERTIFIED S %
BY REGISTERED ENGINEER S - .
OR ARCHITECT PRIOR N\ — : 83 L/ ahminadin
TO SHUTTER INSTALLATION. =/ — N % v -
& C N :
LA S T 9 ' S
woop 41 ' A 2
HEADER | N \ | | —2) cont.
REQUIRED l | | ont. d ey B
> Ardzs=] | | <
AN ehecwm | | :
GLE L
% AS APPLICABLE | | I ggg&RggAﬂEM o X
H | O || | : }@ g
N | | b
2 i SEE SCHEDULE | | | SEE SCHEDUE| | | Iy
4 \| FOR Min. | | 2 FOR Min. |_ &
S SEPARATION E | SEPARATION [T | <
< H TO GLASS | | g l TO GLASS | | E
i ! | | | 9
v E 4
Al
— A el —
g i v £
5 1 8 BEZO) .
g [ - N 5 o g
2 | | B EXISTING 1/4°0-20 5.5,
3 | | Q GLASS I | | ¥ dours wy
< 4 " 7/8%0x3/32"
3 | | d 6 L/ | Wine wir
EXISTING ( | g 7 “ Cort | oo
S H BRICK SILL | | =0) 5 i r//[H LT _
. I~ . BIE
woop —+— | | = &y i () N
PLATE || ol T
x ] “41_./ .:
&” exsmve | | /| A\ i
; i 1/4°0x3" LAG
1 7/8" Min, . 3 yrahrirs | | ; | screws e 6% oc. w/
PENETRATION \\L I | (| 2his pire r %ﬁi’ THMMBFP,&'&L?EAHON
; . 2N
% | 4T
EXISTING 2°%4* stups—" |
16" 0.C. Max. REQ'D . . - Cont. ' ALTERNATIVE 17A~*
| s ame, ) X |
1/4°9x8" ELCO male PANELMATE TVAS 70 STUDS AS PER BRICK SILL /' J/4°8-2083/4"
ANCHORS @ 6" 0.C. TO EXISTING PLYWOOD SECTION 2803 OF THE boits Wy
2001 FL. BUILDING CODE. 7/8%3 /32" PRODUCT REVISED
WiNg NUT ascomplyingwith the Florida ~_WALL MOUNTING INSTALLATIONS
ALTERNATIVE 16 x @ 12" oc igﬁ;ﬁglﬁzdg"o

SCALE : 1/4" = 1"

NOTE FOR COMBINATION OF SECTIONS:

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

* VALID FOR Max. +63.5, —63.5 psf.

BUILD—-0OUT INSTALLATION

SCALE : 1/4" =

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

1»

Division

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +65.0,
—65.0 psf AND PANEL'S LENGTHS UP TO 9°-0°’, EXCEPT AS NOTED.

TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH

2. NEW 2" x 6" P. T.

19 Z M. M. C. W/ SPECIFIC DENSITY OF 0.55.

J. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

N =

i
- \_N”‘ww‘wmmww

JUL © 3 2003

SCALE : 1/4" = 1"

ALTERNATIVE 178

INSTALLATIONS VALID FOR PANELS
WITH INTERIORLY REMOVABLE PANELS

CONNEQTED TO
HOLES AT © 6" 0.C & FASTENED

AT REAR W,

SECTIONS 17 *VALID FOR Max. +63.5, —63.5 pst.

7/8"8x3/32° WING NUT
@ ‘EVERY ‘SIDEWALK BOLT.

USED JOINTLY

F.B.C.(H.V.H.Z.) /MIAMI-DADE COUNTY

/ TILIEC O me. \

TILLIT TESTING & ENGINEERING COMFANY

Ste, 217, VIRGINIA GARDENS, Fl. 33166

95 N.W. 36th, St,
Phone : (305)871~1530 . Fax : (3058711531

EB--0006719
WALTER A. TILLIT Jr. P. E.
FLORIDA Lic. # 44167

7/3/02

4

0.050" PERFORATED BERTHA ALUMINUM STORM PANEL Assgfﬂ_w”
7/3/03
EASTERN METAL SUPPLY, INC DATE
4268 WESTROADS DRIVE
RIVIERA BEAGH, FL 33407 03—143
REV. No DESCRIFTION DATE REV. No DESCRIFTION DATE DRA WIN[" No
1 oL o1-251 x —-

SHEET 14 OF 15




-

1/4%¢x1 1/2" 5.5,

LAG 'SCREW & 4" 0.C.
4" x 8" (Min.) EXISTING
WOOD BEAM REQUIRED,

—+ ALTERNATIVELY, TRACK @ MAY BE ATTACHED
TO HOLLOW CEILING AS PER DETAILS SHOWN
ON ALTERNATIVE 7, SHEET 13 OF 15.

STRUCTURAL ADEQUACY
OF EXISTING WoOD
BEAM TO BE CERTIFIED

/471 1/27 5.5, BY REGISTERED ENGINEER

1/4%@x1 1/2° 5.5.—

1/4*0x1 1/2" 5.5.—
LAG SCREW @ 4* O.C.
~——— 4" x 8" (Min.) EXISTING
WOOD BEAM REQUIRED.

STRUCTURAL ADEQUACY
OF EXISTING WOOD

BEAM TO BE CERTIFIED
BY REGISTERED ENGINEER

LAG SCREW @ 4" O.C. OR ARCHITECT PRIOR LAG SCREW @ 4" O.C. OR ARCHITECT PRIOR
= 70 SHUTTER iNsTaLLAToN. ( + ) 70 shurrer wstaLtamon. (+) B .
. . f ]
ot u(\l’ & s oS
I S 5] | |
—+ - —+ | Nl o+ BER O
| L g | N 3 || cant, S b -
I S \ Cont 2 Q \ Cont.
| o g | | 3 | 3 ﬁ o 4
ll | | 8 SEE_SCHEDULE | | d }1 & SEE_SCHEDULE | é
~
A ERREO) s g | Torun || O 2 N S B | raeun || O s
EXisIvG | | " [ scramamon ™) | i EXSTNG—" | SEE_SCHEDULE = " SEPARATION T [ @
4 SEE, SCHEDULE 8 T0 GLASS | I a SEPARATION. -O é ! o oS ! S
SEPARATION ”"l | x —J‘— A X l’ TO GLASS * :v tﬂ
| roasss | S T DETAL 2 [ % | g _4[_ . o)
_.“_ I__J\'__. -— b A [ —"‘— ! | ] | "@ &
~ \ g | - g — g | S 2
g ' ' z 3 || g
| B g | O : 1| © 3 ,x | 5
) % ) L DETAL 2
| SR § | o~ | | | O~ i
| ; | | | [ " » j u » ) R
” . —7/8"0x3/32 —7/8"9x3/32 —7/8"9x3/32" ¥
| e | e e | iy | o ire 3
| EVERY STUD | | EVERY. STUD | EVERY STUD | EVERY STUD
| i 5 12" 0.0 | | @ 12° O.C. | comt | @ 12" oc. Cont, @ 12° o.C
|| @ | @ |] ALTERNATE ﬂ ALTERNATE |
. | Cant. LEG LOCATIO,

>
[ 2" x 8" T 2°x6 2" x 6" 2" x 6
— Woop DEck — Woop DECK == Woop DECK
REQUIRED REQUIRED G ¥-i"<l|  REQUIRED " REGURED
L wreriorLy removase PANEL (D W/ INTERIORLY REMOVABLE PANEL(DW/ | Z
1/48x1 1/2" LAG ’ . SIDEWALK BOLTS (SEE DETAIL 2) SIDEWALK BOLTS (SEE DETAIL 2) 1/4°8x1 1/2" LAG
ScREW & 8" . I/atext /2] LAG CONNEGTED 10 () THRU 5/8"8 1/4"9x1 1/27 LAG CONNECTED T0 (1) THRU 5/8"2 SCREW @ 6" 0.C.
e SCREW @ 67 0.C. HOLES AT@ @ 6" O.C & FASTENED SCREW @ 6" O.C. HOLES AT@ @ 5° OC & FASTENED
AT REAR W/ 7/8"9x3/32" WING NUT AT REAR W/ 7/8"9x3/32° WING NUT
@ ‘EVERY SIDEWALK BOLT. © EVERY SIDEWALK BOLT.
ERNATIVE 18A ALTERNATIVE 188 ALTERNATIVE 19A ALTERNATIVE 198
CEILING 0 OUNTI NS [#) OUNTING INST,
SECTIONS 18 SECTIONS 19 PRODUCT REVISED
SCALE : 1/4" = 1" SCALE : 1/4" = 1" as complying with the Florids
Buiding Code
1/4"~20x1" S.5. SIDEWALK BOLTS Accepiance No03-07/6.02
18, = oy . . .
i W/3/4* SLOTTED HEAD, FIXED IO Expiration Date ©
INTERIORLY REMOVABLE PANEL é ’
S~ -~ THRU KEY HOLE (2@ 6" o.c. /@ NOT - By
X, L. . h .
7ra en3/52 W/1/4"-20 NUT AT REAR, FTomLE NOTE_FOR COMBINATION OF SECTIONS. Miaini Da
@ 8" 0.C Bivision

PANEL FLOOR/CEILING MOUNTING SECTIONS CAN BE

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

o

I l
| I
L H- H . 1
b % I -IN- 8 : |
Q 3 —-
‘ / | | | NOTES: F.B.C.(HV.H.Z.)/MIAMI-DADE COUNTY
o1 L l | 1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +85.0, 0.050" PERFORATED BERTHA ALUMINUM STORM PANEL 45 S:lOWN
: % ~65.0 psf AND PANEL'S LENGTHS UP TO 9°-0" ‘ SCALE
B s 1/4" HOLE © 8” 0.C. 2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2 SURFACED DRY WITH 7/3/03
A ' 19 % M. M. C. W/ SPECIFIC DENSITY OF 0.55. I". I E c o EASTERN METAL SUPPLY, INC DATE
D — INSTALLATIO 4%%1” 3. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO AE SCUTHERN - INC. 4268 WESTROADS DRIVE
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL, TILLIT TESTING & ENGINEERING COMPANY RIVIERA BEACH, FL 33407 03—-143
ww 6585 N.W. 36th, St, Ste. 217, VIRGINIA GARDENS, Fl. 33166
SCALE: 1”7 = 1" . Phone : (Jas)”é-aif’% EF;' 19 (302)a71~1531 FEV. Mo DESCRIPTION DATE | BV, o DESCRIPTION IE DRAWING Ne
Coemal WALTER A. TILLIT Jr. P. E. ! apoi-zst  1#/yosl 3 -
: [ FLORIDA Lic. # 44167 P = = y — SHEET 15 OF 15

JOL O % 7003




